
SAP ABAP table ROIU_ME_MEMLT_SCR {E&P Measurement: Multi object screen fields}

ROIU_ME_MEMLT_SCR

RUNIT_01 [UNIT (3)]

RUNIT_02 [UNIT (3)]

RUNIT_03 [UNIT (3)]

RUNIT_04 [UNIT (3)]

RUNIT_05 [UNIT (3)]

RUNIT_06 [UNIT (3)]

RUNIT_07 [UNIT (3)]

RUNIT_08 [UNIT (3)]

RUNIT_09 [UNIT (3)]

RUNIT_10 [UNIT (3)]

RUNIT_11 [UNIT (3)]

RUNIT_12 [UNIT (3)]

RUNIT_13 [UNIT (3)]

RUNIT_14 [UNIT (3)]

RUNIT_15 [UNIT (3)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIU_ME_MEMLT_SCR-RUNIT_01 = T006-MSEHI 

0..N

0..N

 ROIU_ME_MEMLT_SCR-RUNIT_02 = T006-MSEHI 

0..N

0..N

 ROIU_ME_MEMLT_SCR-RUNIT_03 = T006-MSEHI 

0..N

0..N  ROIU_ME_MEMLT_SCR-RUNIT_04 = T006-MSEHI 

0..N

0..N  ROIU_ME_MEMLT_SCR-RUNIT_05 = T006-MSEHI 

0..N

0..N
 ROIU_ME_MEMLT_SCR-RUNIT_06 = T006-MSEHI 

0..N0..N
 ROIU_ME_MEMLT_SCR-RUNIT_07 = T006-MSEHI 

0..N
0..N  ROIU_ME_MEMLT_SCR-RUNIT_08 = T006-MSEHI 

0..N0..N  ROIU_ME_MEMLT_SCR-RUNIT_09 = T006-MSEHI 
0..N0..N

 ROIU_ME_MEMLT_SCR-RUNIT_10 = T006-MSEHI 0..N0..N

 ROIU_ME_MEMLT_SCR-RUNIT_11 = T006-MSEHI 

0..N

0..N

 ROIU_ME_MEMLT_SCR-RUNIT_12 = T006-MSEHI 

0..N

0..N

 ROIU_ME_MEMLT_SCR-RUNIT_13 = T006-MSEHI 

0..N

0..N

 ROIU_ME_MEMLT_SCR-RUNIT_14 = T006-MSEHI 

0..N

0..N

 ROIU_ME_MEMLT_SCR-RUNIT_15 = T006-MSEHI 

0..N

0..N


